® 134 @ 176 ® 214

@288

® 362

6°] vl 29} 3 9] FufSolTt,




2X2X3X2%2

1 1
® 5xg

D

~&B

I Dol
| = X
X NI
o= X
X Wl
o~ X
X W[ =
w| = X
X NI
w| =

1

:m

T 2832




3. 1%H 50 7tx9] AASE B HPH Ax (2x5)" ©] D o, n <]
Fe Fohi?

@ 10 @ 11 3®)12 @ 13 ® 14

~&B

1X2x3X4x---x49 x50 of A

2 o] Wj%2] A% : 25 70

22 o] wj=o] j 1 1270

23 o] uljo] 7 1 6 7H

24 o] vij5=2] 7l 4= 37K

2° O] w9 1 17

59 2] A% : 1070

52 o] wj=o] 1 2 70| B2

SIX2X3X4x---x50 =24 x52x...
=AX(2x5)2

T n=12




D 11 @ 17 ® 23 @)27 ® 29

300]ste] &A= 2, 3,5, 7, 11, 13, 17, 19, 23, 29 ©|t}.




T
QO
~
o
—_
N
¢
= T
T %
fN
or KF
g
o
o Ak
o R

H
<
q
ol
@

® B4 42 A% 3 7 o4l e,

@ 2 9 v Fof| 2 & Aol
® &4l 2 & Agoltt,




filo

6. 1802 AQI4Eof5HH x2 x 3% x y o]tk o|uf, y — x & F2?

@ 1 @3 ® 5 @ 7 ® 9

180 = 22 x 32 x5
mabd x =2, y=5
y—x=3




264 9 £Q15E vl2A] 73 52

D)2, 3, 11 @ 1,2 3, 11 ® 22, 11

@ 23,3, 11 ® 2, 3,5, 11

264 =23 x3x 11




T A a, b7F A a B b B WFHEY Kol 16, YA 3
olgitt. olwf, a & 4 = Wl mo] A =?

® 1 @2 @) @ 4 ® 5

a=bx16+3=4xbx4+ 3 ot} et Ymx]= 3 ojtt,




@© 1A @ 271

® 37

%

® 671

69 S5 1, 2, 3, 6olck.

whakA] 47,




10. o= & &4 &2 A2?

@ 10 =10 2 ef4=0[HA] 10 © B0l T},

@ BE A4 A7) AHA19) oF4el FAlo] jole.
@)1 & mE AA5 volt,

@ 384 =6 °f Hig=olct.

® 9= 54 9] oot}




